
Wild Land Drivers GmbH
Sportplatzstr. 4
D-85635 Höhenkirchen b.München

E-Mail: info@wild-land-drivers.de
Phone:  +49 (0) 8 10 2 / 89 58-0

W
W

W
.W

IL
D

-L
A

N
D

-D
R

IV
ER

S.
D

E
MONTAGEANLEITUNG
ASSEMBLING INSTRUCTIONS

BLECHHALTER FÜR GASDRUCKFEDER 
– Artikel-Nr: 19R 5928

WILD LAND DRIVERS GMBH



page / Seite  2
Revision 2: 06.07.2020

M8x20; DIN 933 Zn 1x

M8x25; DIN 933 Zn 1x

Ø8,4; DIN 125 Zn 2x

     

13
M8: 
25 Nm

article no.:
 
19R5928      black steel

mounting kit: 19R9928

19R5928.11
1x 

19R5928.2
2 1x

Step 1

19R4165
3 1x



page / Seite  3
Revision 2: 06.07.2020

article no.:
 
19R5928      black steel

Step 2 Step 3

Step 4

Step 6

2

Step 7

2

III

Step 5

2



page / Seite  4
Revision 2: 06.07.2020

article no.:
 
19R5928      black steel

Step 8

Step 10

Step 12

Step 9

Step 13

1

M8x20 
Ø8,4; DIN 1253

M8x25 
Ø8,4; DIN 125

Step 11

M8:
25Nm


